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No"
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lslQ,1 Answer in short
(i) A population in statistics means a collection of all people living in a coLIntry. ['l'rue / Iralse ]

(ii) A -_ in statistrcs means a portion of the people selected lrom the population of an area.

Define "F-requency Distribution" for qualitative data.(iii)
IivJ Histogranr can be drawn lor qualitative data. ['Irue / F'alseJ
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(v) What is the clifference between class width and class boLrr.rdary?

Q.2 AttemDt Anv Three: [1s]
"l'hirty aduits were asked which olthe following convenicnces they woulcl lind most diilicult to
do without: tclevlsion [T), refrigerator (lL), air conditioning (AJ, public transportation IP], or
microw'ave [M].
'fheir responses are listed below.
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a. I)repare a lreqr-rencv distribution table.
Ll Calculate the relative l'r'equencies and percentages for all categones.
c. What percelttage of these adults named refrlgerator or air conditioning as the

convenience that they wor"rld find most difficult to do without?
d. Draw ;r bar graph for the relative frequency distribution.

[ii) '1'he following data give the total number of iPods@ sold by a mail order company on each ol30
days. Construct a frequency distribution table. Draw thc Histogram.

825i11529221051721-
22 13'26 168129262076
23 14 19 23 20 16 27 t6 21 14

(iii) 'l'hc f'ollowing data give the numbers oI computer keyboards assembled at the ]'wentieth
Century Electronics Cornpany for a sample ol25 days.

45 48 52 46 48 43 41. 52 56 50
4(t 54 44 47 42 44 48 47 53 50
51 49 53 52 51

a. Make the frequency distributron table f or these data,
b. Calculate the relative lrequencies for all classes.

a. c. Construct a polygon for the relative frequency distribution.
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(iv) 1'hc follolving table gives the lrequency distributioir of'ages lor all 50 employees o14lq11pilly.-
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57 to 69

a. Find thc class boundaries and class mid points
b. Do all classcs have the same width? Ilyes, what is that width?
c. Prepare the relative frequency and percentagc distribution colttnlns.
d. What percentage ol the employees of this company are age 43 or you

5

Q,3 Attempt ANY 5 from the following; [20]
(i) Define arithmetic mean, median and mode. Detcrmine arithmetic mean, mcdian and mode for

following number of new orders received by a company over the last 2 flworking days:

5,3, 6,5, 4,5,2, B, 6,5, 4, B,3,4,5, 4, B,2,5,4
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(ii) Find ave marks of'the lo students us one method as discussed in the class.

5 0-60 60-70Marks 0- 10 10-20 20-30 30-40 40-50
2stu den ts 5 12 15 25 B 3

(iii) Runs scored by Martin Guptill and Daryl Mitchell in 7 inni of ICC WT20 202L are as follows:

F'ind coeflicient of varration of both players. Which player was more consistent?

Innir-rg 7 2 2
J 4 5 6 7

Martin Guptill 17 20 93 l(' LO 4 ao

Daryl Mitchell 27 49 1"3 1.9 17 72 11

(iv) Suppose two dice are thrown. The sum of numbers which come on the dice is noted. Consider

lollor,ving cvents:

A: The surn is even

B: The surn is multiple of 3

C: The sum is multiple of 4

D: The sum is greater than 11.

Frrst Irst out all thc sample points of all the events" Then decide and write which of the pairs is

rnutually exclusive. iixplain why"

Iv) Deline a sample space. Consider an experiment of tossing two coil-rs.

[aJ What will bc the sample space in this experiment.?

[bJ What is the probability that both coins show heads?

[c) What is the probability that the first one is head?

ldl What is the probability that both coins shows same output?
(vi) Thc following tablc lists the probability distribution of thc number ol breakdowns pcr wecl<

for a machine based in past data.

Breakdowns per week 0 L 2 3

Probability 0.15 0.20 u..-) ) 0.30
li'ind the probability that the number of breakdowns for this machine during a given weel< is

Ia) lixactly 3

[b] 1or2
[c) More than 1

[dJ At most 2

(vii) Corrsider a binomial drstribution with mean 4 and variance 4/3. Detern-rine value of n,p and q

Thcn find P(X > 1\.

.,

*****xx**x**End Of QUeStiOn Papef*xxxxx*xxxxx
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